Quick Inversion of Partitioned Matrix
in Three Easy to Remember Steps
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   (where A is m(m, D is n(n, B is m(n, and C is n(m)
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    Add minus on off-diagonal
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 “Divide” each row by diagonal element;
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 “Divide” by 
terms that resemble determinant
=
[image: image5.wmf]ú

û

ù

ê

ë

é

-

-

ú

û

ù

ê

ë

é

-

-

-

-

-

-

-

-

1

1

1

1

1

1

)

B

CA

D

(

0

0

)

C

BD

A

(

I

C

D

B

A

I

 Simplify inverses
Check: 
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Can you remember this? 
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	Step 1. Put minuses on diagonal
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Step 2. Divide rows by diagonal elements
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Step 3.  To recall the determinant-like divisor, multiple out original matrix and the step 2 matrix
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Note: the inverse of a 2(2 matrix is 
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To remember this: 1) interchange diagonal elements, 2) change sign on off-diagonal, 3) divide by determinant.
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